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1.1 Arithmetic Sequences, pages 6-21
1. Dotermine whether each of the following
Soquonces Is arithmetic. If It is arithmeic,
state the common difference.
) 36,40, 44,45, .
b) —35, 40, 45, 50,
912438
@83,43,03,-3, 37,
2. Match the equation for the nth torm of
an arithmetic soquence to the corroct

soquenco.
) 18,30,42,54,66, ... A f,=3n+1
)7,12,17,22, .. B = —4nt1)
92468 12046
@ —8,12,16,-20,... D {,=5n+2
©4,7,10,13, n

3. Consider the soquenco 7, 14, 21, 25,
Dotermine whethr each of the following
‘numbers is a term of this sequence. Justify
your answer. If the number s a torm of
the sequonce, dotermine the value of 1 for
that torm.

) 98 b 110
978 @ 575
4. Two sequences aro given:

Soquonco 1152,9, 16,23,
Soquonco 21514, 10,16, 22, ..
) Which of tho following statomonts

s comrot?

A 4, is greator in soquonco 1.
B 4, is greator in soquonco 2.
€ 4 i5 oqual in both soquonces.

) On a grid,skotch a graph of oach
soquance. Does the graph support
your answor i parta)? Explain.

5. Dotormino tho tonth torm of tho arithmotic

Soquonce in which the first term is 5 and
the fourth term Is 17.
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6. The Gardiner Dam, located 100 km south
of Saskatoon, Saskatchowan, i the largost
carth-fillod dam in the world. Upon its
‘opening in 1967, englnoers discovred that
tho pressuro from Lake Diofonbaker had
‘moved the clay-based structuro 200 cm
downstream. Since then, the dam has
‘beon moving at a rate of 2 cm per yoar.
Dotormin the distance the dam will have
‘movod downstream by the yoar 2020.
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1.2 Arithmetic Series, pages 22-31
7. Dotormine tho indicatod sum for oach of
the following arithmotic series
96404124050
BA54E41I5 4 (5,)
9643404005,
60470480 4 (5,0
8. Tho sum of tho first 12 torms of an.
arithmotic sorios is 186, and tho 20th torm
is 83, What s the sum of th first 40 torms?
9. You havo takon a ob that roquiros boing.
in contact with all the pooplo in your
‘noighbourhood. On tho first day, you aro
ablo to contact only omo person. On tho
socond day, you contact twa moro pooplo
than you did on the first day. On day throo,
‘you contact two moro pooplo than you
did on tho provious day. Assumo that tho
pattorn continues.
2) How many pooplo would you contact
on tho 15th day?
) Dotormine the total numbor of pooplo
‘you would havo boon in contact with by
tho ond of tho 15th day.
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2) Detormine tho total number of squares
in the 15th stop of this design.
b) Detormine tho total number of squares
roquired to build all 15 stops.
‘A concert hall has 10 seats in the fist row.
“The socond row has 12 seats. If cach row
has 2 scats more than the row boforo 1t and.

thoro aro 30 rows of seats, how many soats
aro in the entire concert hall?
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